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GENERAL STUDIES
Paper I
ienes o8 Hours i [ Maximum Marks : 300
INSTRUCTIONS

Each question is printed both in English and in Kannada.

Answers must be written in the medium specified ( English or
Kannada )} in the Admission Ticket issued to you, which must be
stated clearly on the cover of the answer-book in the space
provided for this purpose. No credit will be given for the answers
written in a medium other than that specified in the Admission

Ticket.
Candidates should attempt questions from all Sections.

The number of marks carried by each question is indicated at the

end of the question.

The length of the answers should not, as far as possible, exceed

the specification given at the end of each question.
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SECTION ~ A

Note 1 Answer {he following questions in about 200 words cach.

it Each question carries 20 marks.

Criticaliy analyse the role played by Karnataka in the Freedom struggle of India. 20
OR

Write a note on the cultural progress in modern Karnataka,

Bring out the implhcations of the US war against terror in South Asia. 20
OR

Critically evaluate how India is trying to deal with the Pukistan sponsored cross-
bordér terrorism since December 2001.

Answer any two of the following in about 100 words each : 2x 10 =20
{al  Write about Belur Temple.

{b) Bring out the historical significance of the Fourth Anglo-Mysore War.

fc) Explain the services rendered by Sir M. Visveswaraya as Dewan of Mysore.
Answer any two of the following in about 100 words each : 2x10=20
(a} Explain the Panchsheela Principle.

(b) Describe the paintings of Ajanta Caves.

(e} Write a briet note on Union Territories.

Write short notes on any four of the following : 4x5=20
(a} Electronic voting machine

(b) Nomn-aligned movement

{1  Round Table Conference

(&  Abdul Kalam

(e) Attorney General of India

(i G.M.C. Balayogi.
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SECTION - B
Note: 1 Answer the following questions in about 200 words each.
iiy Each guestion carries 20 marks.

. Explain the strategy of development through decentralization with reference to
Karnataka. 20

OR
Highlight the main features of EXIM Policy of 2001-2002.

7. Describe the consequences of disinvestment of government owned enterprises, 20
OR
Give a latest status report on Kaveri water dispute between Tamil Nadu and
Kammataka.
8.  Describe the impact of globalization in India. 20
' OR
Account for emergence of Bangalore as the premier software development centre in
India.
9.  Describe the factors that led to ‘Narmada Bachao Andolan’, 20

OR
Give an account of assassination of Royal Family in Nepal.
10. Write short notes on any four of the following : 4 x5 =20
(a) Sydney Olympics
(b} Asia’s performance in World Cup Football, 2002
{¢) India’s achievement in Intermational Lawn Tennis
(d} Contribution of Karnataka to the Indian Cricket
{e) Decline of Indian’s performance in International Hockey
() Match fixing.

11. Write short notes on any four of the following : 4x5=20
(a3 U. R Rao
{b) Aristotle

() Dr. Homi Bhabha
(1} Amartya Sen

(e) Nalpaul

(i B, D. Jatti.
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SECTION ~ C

Answel any i of the following : 2x 10 =20

{2)

(b)

The sales of a TV Manufacturing Company are given below .

Month Last Year This Year
Jdanuary 100 98
February 104 103
March 105 104
April 109 107
May 109 108
June 110 110
July 111 110
Angust 111 111
September 112 111
October 114 112
November 115 120
December 120 126

Average 110 110

From the above data, A concluded, ] am worried. In each of the first ten
months this year, the sales have been lower than the correspending months
last year. The increase in the last two months is fortuitous.”

B concluded. *I am happy. In both the years, sales have steadly risen between
January and December ; this year even more than the last year.”

C concluded, 1 do not bother the average performance. This year is no worse
than last year.”

What do you conclude and why ?

Represent the following data showing the value of exports and imports { in
crores of rupees } by a graph :

Year 1975 | 1880 | 1985 | 1980 | 1995 | 2000
Exports : 26 32 35 47 52 57
Imports : 35 40 48 50 50 52

Assuming the rate of growth of imports as well as exports to be uniform
during each five year period, find out the year after which the balance of trade
became favourable.
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13.

B

The statistics available with the police authorities about the state of crime in

an important city in India were as follows :.

Year

Crimes 1997 1998 1999 2000
Dacoities 8 39 50 23
Murders 110 102 105 119
Attempted Murders 150 114 196 167
Robberies 409 178 372 202
Riots 155 70 195 104
Snatching 199 141 197 112
Burglaries 2168 1458 1749 1532

The police authorities claim that crimes have come down in 2000 and the law

and order position in the city is showing definite sign of improvement.

Analyse the above data and state your comments.

Answer any two of the following :

are given below for male & female :

Life Expectancy at various stages

2x 10 =20

(a} Life expectancy of a region at various ages for the three consecutive decades

Age of 1st decade 2nd decade 3rd decade
Persons Male Female Male Female Male Female
0 32.5 31.7 41-9 40.6 40-4 44-7
10 40-0 395 45.2 43-8 48-8 47.7
20 33.0 32-9 37.0 35-8 411 39-9
30 266 26-2 29.0 27-9 33-3 32.0
40 20-5 211 22-1 22-4 259 254
50 14-9 16:2 16:5 175 19-2 19-7
60 10-1 11.3 11-8 13.0 13-6 13.8

Examine the trend of the increase in life expectancy of the people at various

stages. Give conclusions on comparitive longevity of males and females.
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(b) The following is a report on the accidents given by the Southern Railways !
The total number of accidents in Southern Railway in 1980 was 3.500. It
decreased by 300 in 1981 and further decreased by 400 in 1982. The total
number of accidents in the metre-gauge section was 245 in 1980. 346 in
1981 and 428 in 1982. In the metre-gauge section “not compensated cases”
were 59. 77 and 108 for 1980, 1981 and 1982 respectively. “Compensated
cases” in the broad-gauge section were 2867, 2587 and 2152 respectively for
the three years.
Prepare a complete table from the above report.
{c) The following table shows the marks obtained by three students A, Band Cin
an examination :
Maximum marks in each subject
800 700 900 600 1000
Students - 8, S, S5, S, S,
A 560 553 549 540 500
B 480 420 540 360 600
C 424 427 423 426 420
Determine which student have shown :
() most consistent performance and
(i) most inconsistent performance.
14. Answer any four of the following : 4x5=20
(@ In an Assembly election out of one hundred seats 52 was won by party A. 26
by party B and 22 by party C. But out of total number of valid votes these
parties secured 46%. 26% and 28% of votes respectively. How do you explain
this phenomenon ?
) In a class of 50 students the average marks obtained by them in a test were
40. Pass marks were 30, The average marks of the successful students were
45 and those of the failed ones were 20. What percentage of students failed 7
() A manager wants to know the number of workers receiving wages between
Rs. 2,200 and Rs. 5,800 from the information given below, supplied by hi-
office :
Wages 0-10 | 10-20 | 20-30 30-40 | 40-50 | 50-60 | 60-70 | 70-80
{Rs. 00's )
No. qf workers : 20 45 85 160 70 65 35 30

Help him.
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A 560 553 549 540 500
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{d) A card is drawn from a pack of playing cards and then another card is drawn
without the first being replaced. What is the probability of drawing two aces ?

(e} A supervisor claims the employee A is faster than employee B. The average
time that A needs for a transaction is 60 seconds with a standard deviation of
3 seconds. The average time B needs for transaction is 65 seconds with a

standard deviation of 2 seconds. Is the supervisor right ? v

{fi A heart patient advised to undergo surgery had heard a statement that ‘every
seventh heart operation resulted in fatality’. When he went to his surgeon he
learnt that the surgeon has just completed six successful operations in a row.
He refused to become the seventh patient. How would you explain the above

statement to him to allay his fears ?
Answer any four of the following : 4 x56=20

(@ The following is a ple-diagram respresenting the values of exports of six

commodities A, B, C, D, E & Fin a country.

If the total value of exports is Rs. 9,600 crores, calculate the value of export
of the commodities A, B, C, D, E & F respectively,

(b) The following table gives the number of runs scored by two batsmen A and B

in the last five matches :

)
Batsmen Number of Runs

A 40 50 60 40 50

B 100 120 5 5 10

Which batsman would you prefer for inclusion in the team for the next |
match ? '
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In a city, three daily newspapers A, B and C are published. 42% of the people
in the city read A | 51% read B ; 68% read C ; 30% read A and B 1 28% read
Band C; 36% read A and € ; 8% do not read any of these newspapers. Find
the percentage of persons who read all the three papers.

The probability that a contractor will get a plumbing contract is % . and the
probability that he will not get an electric contract is g - If the probability of
getting at least one contract 15% . what is the probability that he will get both

the contracts ?

A bag contains 6 white, 4 red and 10 black balls. Two balls are drawn at
random. Find the probability that they will both be black,

What is the probability that a leap year, selected at randorm will contain
53 sundays ?
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